CE 261 DYNAMICS i
MIDTERM 1: CHAPTERS 1,2,3 & 4
Thursday, March 4, 1999, Time: 5:00-630 pm
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Ate-'smvermtheukxmny(ﬁ=0')avdodyv. The center of the ball clears
the 36 inch high net by 6 inches. Thetauﬁsbﬂweig!uZmudlmadiamctaof?o
inches.

(10 points) Calculate the time, t_, it takes for the
ball to reach the net from the racquet.
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(10 points) Calculate the ball’s initial velocity v.
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2. The car A has a forward speed of 18 km/hr and is accelerating at 3 a”. Observer B rides
in a non-rotating chair on the Ferris wheel. T‘he*m&*}n“‘hl‘uns
wheel is constant.
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a (10 points) Determine the velocity of the car

relative to cbasrver B.
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b. (10 posnts) Determine the acceleration of the car relstive to observer B.
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CE261 — DNMAMICS
Midterm I: Chapters 1.1-7, 2.1-2.9 N

24 February 1988
SHOW ALL WORK  CLOSED BOOK ‘ [ﬂ\\ ©
CLOSED HOMEWORK OR SOLUTION MANUALS E%:::::::::)
NO CREDIT FOR ANSWER ONLY >
1. Aircraft A is flying east with a velocity of \,)

Va = 600 mph, while aircraft B is flyin~ northwest
with a velocity of 400 mph.
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a.) (10 points) Determine the mag tude, Va.s

(mph), which A appears to have tc i1 passenger
in B. —— |
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b.) (10 points) Assuming Va.s = 1000 mph, find direction of Va,s with respect to
North in degrees.
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2. Given a particle P which varies position as R P
= KO, and where initial position is 6. = n/4
at t = O pfnd the angular acceleration is . ©
constant, © = B. ééb'=." R
a. (10 points) Find the time, t, when the o
particle P is at € = 3n/4. !
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b. (10 points) At time, t = 2 [n/B1*“=, find the radial acceleration of P. a..
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c. (10 points) At time, t = 2 [n/B1*/=, find the angular acceleration of P, aa.
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